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Question ID : 264330104885
Status : Answered
Chosen Option : 1
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Question ID : 26433068617

Status : Answered

Chosen Option : 1

Q.3 9 Py & g T e |, 1 3R 11 2T 7T §1 FUET #Y I 9 g, YA )
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X 4. 9t Frepdf SR R B

Question ID : 26433068645

Status : Answered

Chosen Option : 2




Q4 3 fou T vy & $© Y R I 91 39 YA W uTRa $© e fou e §1 faw
T HYAT B et AH, U & ITH WHTaa: Jia gt S fRsrar 811 3 ey ud ik fr
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DY
.3 A, DTSRI
1.9 D, E §
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I.SE D, ATEI B
I.$SE, DRI
Ans X 1. %ad sy || SFERU BT §
% 2. Bad FshY | SFTER AT §
X 3. 1 ot Frspef argeRur 7 R B
o 4.1 T 11 S Y SRR R §

Question ID : 264330104927
Status : Answered
Chosen Option : 4

Q.5 uw i3 e Ut #, ‘birds are flying’ ® '536' % U W Heds [HaT AIGT &, ‘the nest is
big’ Y '3423' & ¥U W Fedw: fHaT ATAT 8 3R ‘close the door’ 1 '534' & FU § Fedx
foram SITeT 81 I HTIT | 'complete your work' @ fhT TR Sea forar wmem?

Ans X 1.733
X 2.484
& 3.844
X 4.955

Question ID : 26433067776
Status : Answered
Chosen Option : 3

Q.6 fAuferEa o ¥ ®19 I1 3ieR-TE < ¥ e § uyfg (?) F T TR AT?
ZUPK, YTOJ, ?, WRMH, VQLG

Ans X 1.XSNJ
X 2. XSMI
X 3. XTNI
o 4. XSNI

Question ID : 26433059853
Status : Answered
Chosen Option : 4
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Question ID : 26433070442
Status : Answered
Chosen Option : 4




Q.8 I Py &1 799 FY, Wil Uiud 3&R-TYE I I UhR Yafid g, Fory UeR gamT 3rer-
TR Ugd AEGR-TYE | AT § 3R AT S&R-Wg R 3I&R-THg o Wafera g1
OILS : UNLS :: PAIN : PKDT :: QUIK : ?

Ans X 1.MLYV
X 2. MLXU
3. MKXU
X 4. MKXV

Question ID : 26433056194
Status : Answered
Chosen Option : 3

Q9 Ry g THfterur #1 wgfera s & e 5 o wemait 3k i ) gl & R agaen
ma+2o+16xs=1s
Ans X 1.4 3R 20, + 3R +
X 2.10 3R 16, x 3R +
X 3.10 3R 20, + 3R x
o 4.4 3R 8, x 3R-

Question ID : 26433087051
Status : Answered
Chosen Option : 4

Q10 T3 @1 3+ &, T 9k, R R 1 ok B, T PR o
1AM T ERM?
[(32x20)-(2+3)}+ 2-4]+3

Ans X 1.8
X 2.10
X 3.6
& 4.9

Question ID : 26433067863
Status : Answered
Chosen Option : 4

Q1 ‘A@B P 'A BETU I
‘A&B BT AIR A BHAEIRI
‘A#B BTIFE'B, AB TR
GfSD#E#F&G@H#18, a1 G, E 3 fry yopR Wafta 82

Ans X' 1.7F
& 2.1
X3l
X 4. fuar

Question ID : 26433068458
Status : Answered
Chosen Option : 2




Q.12 39 fareq BT ag= &3 Wil il TE @ I PR Jufid g o teR g e gadt
I A 3R yiEdl e TS T’ | WAk gl
47:9::?7:14::92:18
Ans X 1.37
X 227
% 3.73

& 4.72

Question ID : 26433059938
Status : Answered
Chosen Option : 4

Q.13 & T <) Tl P U § WER dgem W Fafiiad § § S 91 gHiieo 98 gm?
19U 7

Ans X 1.7+6+3-5x1=-10
& 2.7+1x2-6+3=13
K 3.1x2-7+8+2=16
XK 47x2+1-5=6

Question ID : 264330105100
Status : Answered
Chosen Option : 2

Q.14 39 APy P 99 PR S T Ueg A IW TR Geifea & FORT TR gIRT 21 Uga
TTeg | Tt @1 (R1eal BT Srfyuf reat & = F AT WM AR SR 2eg H SreRiaiel
R B T & YR TR T ga) | Fafra A1 fowar o =nfgg)
fpdpe : - Asfiiest: 2

Ans 1. FIC
X2qd
X 3. ®lcs
Xa®

Question ID : 26433067805
Status : Answered
Chosen Option : 1

Q.15 fPrafafad IR seR-agel # @ @ bt Fifa 8P J 79 € 3R 0o S99 R B
BRI SHER-TYE BT 999 Hiorg|
Ans o 1. XYA
X 2.EFI
X 3. ABE

X 4.19M

Question ID : 26433069009
Status : Answered
Chosen Option : 1
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Question ID : 26433068975
Status : Answered
Chosen Option : 2

Q.17 HwEmai & fww aHg 1999 B3| (A 3 m@ﬁaﬁmmmﬁﬁmﬁam
T, qof et uR wifdrart fFrenfea &t sl @ifde ) SereRor #13 - 13 W wfpard S
%wﬁﬁgﬂwa:n P 3T foraT S a8 13 DY 1 3R 3 # drsr ok b 1
aﬁwwnﬁnﬁuaﬁmmaﬂ%aﬁamﬁqﬁ%)

Ans X 1.20-406
< 2.10-106
 3.14-200
& 4.12-150

Question ID : 264330105090
Status : Answered
Chosen Option : 3

Q.18 Tw [ifid e YT, "GLAND' %1 'GQDOJ' & = H @t wirar 8 3R 'MEANS' &1
"VQDHP' & &4 ¥ forar Sirer g1 It HTeT # 'cYSTS' B ) foran smem 2

Ans X 1.VWVCF
< 2. UVUAE
« 3. VWVBF
X 4. FBYWV

Question ID : 26433067326
Status : Answered
Chosen Option : 3




Q.19 TS 3gepH faar T B, o | v ue g 21 2T e fawenl # 9 98 9et fawew gfg, st
SSh Y B R BRI
REV, UXD, XQL, AJT, ?

Ans X 1.DRM
X 2.RMQ
< 3.DMR
« 4.DCB

Question ID : 264330104795
Status : Answered
Chosen Option : 4

Q.20 I Iy BT U= HY il UiEd] T=T § I UHR Haitd 8 O yeR gl SBn uget
Ter @ Hefta § ok et den S e @ G&la 21
12:120::20:360::3:?
Ans X 1.32
X 27
3.3
X 4.15

Question ID : 26433067653
Status : Answered
Chosen Option : 3

Q21 GRA+BHTITETF A BHTATE, A-BIHTATR P A, BHIaEI?, AxBHT S
fF A, BT TS 8, ) Fufef@a o @ &9 1 oivie gg Riefa sxar 8, 5 Q, PaT g 82

Ans X 1.Q-PxR
K 2P-Q+R
X 3.P-RxQ
& 4 P-QxR

Question ID : 264330104985
Status : Answered
Chosen Option : 1

Q.22 fgfafaa # ¥ o1 & T < 1 3oft § gufg (7) F A w e

27, 29, ?, 182, 730, 3652
Ans X 1.122

% 2.110
X 3.58
& 4.60

Question ID : 26433068966
Status : Answered
Chosen Option : 4




Q.23 39 BT 7 P o Wy o § St yeR Wt § o yer fafafaa
S et 3 wiefira &1
(Fite: TEmsi Bt ITF gew il | fyuira fary famm, gof wemsit w nfordg w@feang #t
ST A1feT | IeTeeur & Rg 13 - MMy wHikaTy S i StsTae Ao ST s 13
T foraT o Wrar 81 13 B 1 30 3 & v w1 3R 67 1 3R 3 W nifvrdia wifdrard
B B Al TE 1)

(16,7, 112)
Ans X 1.(14,5,70)

« 2.(26,5,132)
X 3.(18, 3, 54)
X 4.(22,7,154)

Question ID : 26433068343
Status : Answered
Chosen Option : 2

Q2 37 s1gfa & T BfSw, St AT & 7S Eer 7 H7Er s

SHnEIk

vt m

Ans

Question ID : 26433078976
Status : Answered
Chosen Option : 1




Ans 1. HIACARD
X 2. FaTAMRC
X 3.%daB
X 4.%dd D

OB 337 o 1 T B A A 75 oMe F @t F i Az a@w@

Question ID : 26433070356
Status : Answered
Chosen Option : 1

Section : General Awareness

T AE 2
1. YRd & Taodr Hrf & 30 Wd

fore wrre fran s @
Ans X 1.%adll

& 2.1 3R 11 AT

X 3. A RAG

X 4. Fad|

Q.1 3FRA 2022 ¥ % GRT YR B 71§ AR (NAMASTE) To1 &1 fFrafafaa & § s a1

II. TE3T HHATRYT &) TE Yerdr Gqgl # Thid farar ST § iR Ta<sar a9 9a{ &

Question ID : 264330105296

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans X 1. Amit Shah
< 2. Yogi Adityanath
o 3. Piyush Goyal
25 4. Nitin Gadkari

Q.2 Who among the following has launched the US Startup SETU programme?

Question ID : 264330105298
Status : Not Answered
Chosen Option : --

Ans X 1.769.5
K 2.767.5
& 3.7635
& 4.765.5

Q.3 2011 P} FIUAT F AR, HRd § AI&R| BT H=H e 21

Question ID : 264330105529
Status : Not Answered
Chosen Option : --




Q.4 fafifed § Qo9 91 Tefae I-4Re T 22
1. ferewms
Il. get

Ans X 1. ATE AR

& 2.1 T 11 &

X 3.Fadll

X 4.%9d|

Question ID : 264330105478
Status : Answered
Chosen Option : 4

Q.5 IRFRARIF &3 (Ecosystem)’ Treg Frafufaa # & fras gr ywanfaa far mar?
Ans X 1. T

o 2. Tofl et

X 3. ffsia

X 4.

Question ID : 26433064446
Status : Not Answered
Chosen Option : --

Q.6 HTa-fur a1 3fHHTaS BT Hifered B @ fh ag M 6 ¥ & & 9= 91 3
3faa, ST o AT B, Y RAe BT TR U S|

Ans 7 1.14
X< 2.16
£3.20
X 4.18

Question ID : 26433071533
Status : Answered
Chosen Option : 1

Q7 Fafafed & ¥ o9 I REeR sHax aredt gt YR afger @ftaer H2
Ans X 1. TifaAga

X 2. I QAT

X 3. garufsa

o 4. T T8

Question ID : 26433054482
Status : Answered
Chosen Option : 2

Q.8 HRA HT IAIT AN Ugell IR Fd I5-HGRIG (P a1 412
Ans X 1.1985

2 2.1994
 3.1989
X 4.1995

Question ID : 26433074845
Status : Not Answered
Chosen Option : --




Q.9 FERT APy Frafifad # @ frg werdiu § R@ 82

Ans X 1. 3fieferar
o 2. 3AWIPT
X 3. TR ekt
X 4. IR AR
Question ID : 264330105621
Status : Answered
Chosen Option : 2
Q.10 fmfifed & & fFa o et ot Safr afdor wra & 48 58 @
Ans ' 1. HRAGIH
X 2. plget
X 3. ByUFpal
4. T
Question ID : 26433064647
Status : Answered
Chosen Option : 4
Q.1 fgfafEa 3 @ 7 smfug | Ydfta T8 872
Ans 1. foRga I fifeen &1 faftrdl & aR o a1d &t
X 2. 78U & IR T TH dqS ab faeiia o
X 3. T &g o, o SR 1 gt & Sruet ¢S} TR I9aR Hie Bt aoig I gl g |
7 4. TS g9 & IR B Aron & fafd gg et
Question ID : 264330105208
Status : Answered

Chosen Option :

1

Q.12 AIUAT & FOT I BT Hae o T | 417
o 1. BRC

X 2.7

XK 3R

7 4. oR-UfIER

Ans

Question ID :
Status :

26433091456
Not Answered

Chosen Option : --

Q.13 fsTH T3S & frved swrae § Wfsan 3ma= & fba Homa Ra &2
o 1.9
X 2.9

X 3.4
X 4.3

Ans

Question ID
Status

126433086740
: Not Answered

Chosen Option : --




Q.14 Froyeref= 3R fiawrel= il smaet & 9 fhaa ad &1 3R gar 22
Ans 1.2
K24
X 3.1
X 4.3

Question ID : 26433071538
Status : Answered
Chosen Option : 2

Q.15 =it sreferawt ¥ YA Sged @ BT HaY Agre
Ans X 1% eF

2. 9 &

X 3. ol &

X 4. WBR &

Question ID : 26433064525
Status : Not Answered
Chosen Option : --

Q.16 2013 ¥ A WPR F IT AP PR, FARMTI RPBRA (Nishagandhi
Puraskaram), BT WYH UTEHd! (UfeIRad d & S 41?2

Ans X 1. mydt ged
2< 2. TN St forears
« 3. UTert ARTuTE

X 4.3c9 YHR

Question ID : 26433082123
Status : Not Answered
Chosen Option : --

Q.17 Identify the step that is NOT a part of decomposition.
Ans X 1. Catabolism

5 2. Leaching
< 3. Humification
«” 4. Soil erosion

Question ID : 26433064764
Status : Answered
Chosen Option : 4

Q.18 faffad & 3 fra yrdia =g & Tipurt O ume ora 82
Ans X 1. IR U

X 2. g Uy

3. TS

X 4. fawr

Question ID : 264330105600
Status : Answered
Chosen Option : 3




Q.19 Frgfafad § @ = arior b ) TRINT HI=T1 BT HRT T8 872
Ans X 1 g0 o

2. GEDR

% 3. &g uror S

X 4. TEHRY 3R ufty e s

Question ID : 26433072958
Status : Answered
Chosen Option : 2

Q.20 g FrafafEa # & few e & e 32
Ans X 1.3g!

2. Tf0BR

X 3. BHa

X 438

Question ID : 264330105406
Status : Not Answered
Chosen Option : --

Q.21 3l 2022 ®, 126 faivad et F @ @ wgfs srdey 3= far man) a5 srfwa
TS BT 8|
Ans o 1. FHTID G b T

X 2. 3Uard &I g
7 3. ST e
X 4. 3E B BEIR

Question ID : 264330105309
Status : Not Answered
Chosen Option : --

Q.22 @A BT g e HusT R a7 & 7919 & dta ford o @St g e
Ans X 1.1857

X 2.1750
< 3. 1850
& 4.1757

Question ID : 264330105555
Status : Answered
Chosen Option : 1

Q.23 wIfons SITAT (plasmid DNA) & T &1 Uga $1 |
Ans X 1. 3o BIRIBISH Pl T

7 2. 3RIIRTTT (rRNA) & {01 & Aeg B
X 3. fRu T fawedi A A i N W e §
o 4. SHaTgsit &1 $o Ay gaaeoia deor ueH &

Question ID : 26433096238
Status : Not Answered
Chosen Option : --




Q.24 fafafaa & | forg 3= A 2022 FY TRATE Fit ATARM F Asarit &, Wi A R
o s Siidq #t gfed TIH aTd Ugd YR WIS d Ugda 942

Ans X 1. 2ffemE, @
o« 2. SAFECR, TNfer
X 3. 3MeHTEY, Bl
X 4.7 e, URa

Question ID : 26433059407
Status : Answered
Chosen Option : 2

Q.25 fufafad & fFea af 1971 & st fymor ResR siar u1?
Ans X 1. T WHHYA

X 2. IM9 AR™O
« 3. 3¢ YR
X 4. o TIfergT

Question ID : 26433074831

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : Quantitative Aptitude

U v Ty Fr ogeat F oA S 2o §1 AfE 9w 147 om ®, A
TIH DI 8T & TS gl
Ans X 1.30cm
” 2.35cm
& 3.12cm
X 4.25cm

Question ID : 26433083065
Status : Answered
Chosen Option : 2

Q2 ot g HTere (1 1) 712016 & A Toveet 8731 3 o[ v 10 Feré 37 i Fwn ST aet &

WA FETE- 39 T BT F gl dT g |
FrE-HT P FEw (2016 ) T TCE-AT F FEAT
Uomes Srmiw
B et = it
] feE
o s * srmur
® m B e

2016 ¥ o[F g W T3 A ¥ Thew WOwd (SFT &f Geed RIEl 9% SR AT # E g
Ans % 1. 13.21%
2 12.91%

X3 12.19%
x4 13.12%

Question ID : 26433076422
Status : Answered
Chosen Option : 2




Q.3 10 Tiex Brear 3R Fx & 90 53t F Hivr A 791 & U Arouws & dAwd F T Fifg
I

Ans X1 793 m2
V3 785 m?

X4 795 m?

Question ID : 26433065312
Status : Answered
Chosen Option : 3

Q4 frufafad o wa sl

cot13° cot27° cot45° cot63° cot77° = ?

Ans x1-‘\f§
X2 2

3 1

X4 43

Question ID : 26433082931
Status : Answered
Chosen Option : 3

Qs 2_p2

33+b3 B-ﬁT a

a—b aZ —ab + b2

T AT A T

Ans w1 a+b

a+h
a—h

X3 yJa+hb

F S|

< 2.

Question ID : 26433063940
Status : Answered
Chosen Option : 1

Q.6 33 HHNT fauH H@=malf &7 3N 48 21 Uiad 3R AIad! JAT3iT BT TN J1d HIvTE|
Ans X 1.90

& 2.102
X 3.89
X 4.86

Question ID : 26433075226
Status : Answered
Chosen Option : 2




Q.7 TP YRR 6% AT ATUROT ST g% R 3 o & 2767 SR 4 af & 2806 7Y WA B
ARTRY et 82

Ans X 1.%600
X 2.3675
X 3.3560
& 4.3650

Question ID : 26433082399
Status : Answered
Chosen Option : 4

as qﬁ:sme:% €, Tl (3c0s 8 — 4 cos® B) HTHH &

Ans X 1.-1
& 2.0
X 3.1
X 4.2

Question ID : 26433065321
Status : Answered
Chosen Option : 2

Q.9 43 3K 481 ¥ A A frah T=t 0 gRT RAMT §2
Ans 7 1.49
X 2.50
X 3.48
X 4.51

Question ID : 26433062623
Status : Answered
Chosen Option : 1

Q.10 U 7T - 1 Hemad Sifar 3 56 9 9 v v @ = At
G- T Rei aY & 2w R O W vE s & 'Y & Sehg T 2

Eorm & geen & e W Thae e How = B o1 § (2 e T o wE I S

Ans X 1.28.25%
X 2.32.75%
« 3.33.33%
X 4.30.35%

Question ID : 26433083056
Status : Answered
Chosen Option : 3




Q.1 T& TSR TY B q16 U1 Sifaie aRkftal &1 argura 5: 4 31 af vy s0 Fex A1 9,
at ik g @1 Ao w82

Ans X 1.250 Hix
2< 2.300 HieR
X 3. 210 MR
o 4. 200 IR

Question ID : 264330105860

Status : Answered

Chosen Option : 4

Q.12 1000 m FIIRWH AT H A, B P 50 m AT 5 S A B AT 81 A 3R B F1 A1 (m/s H) F
S fpeT 3w 82

Ans g

Question ID : 26433075771

Status : Answered

Chosen Option : 2

Q.13 T SIeR 23,000 Sifhd Te P U avg WA § 3T 15% TS 15% B HANTT Fe I
FRATEI gﬂﬁaﬁwaso@%ﬁm%aﬁvsﬁzo%%m{wm%l ag 31 fapa
HeY T DR

Ans 132,901
x 2 33,250
x 3 33,300
x4 %3,200

Question ID : 26433076271

Status : Answered

Chosen Option : 1

Q.14 Fgfafaa o Breuidy sgural & e & s uF 319 w31 & e ga &8

(sin A + cos A)(1 — sin A cosA)

X1 sin® A— cos?A

X2 sin® A— cos®A

%3 [cosA — sin A] [sin? A + cos?A]

v4 sin® A + cos°A

Ans

Question ID : 26433061930

Status : Answered

Chosen Option : 4




Q15 afe, el el BT ST 1792w B, Tl IHHT T &A% A1 BT
AN v 54 m?
X2 151 m?

X3 221 m?

X4 144 m?

Question ID : 26433063904
Status : Answered
Chosen Option : 1

Q.16 T Uga B BHAd A 28% B gf: Tt 3, A IUHIFT gRT WUd & fve yforra ot st
P ST AR, i USIe W g Suiafd IgaT 872 (2 SRHAT T} a9 gl

Ans 7 1.21.88%
&< 2.20.25%
X 3.25.75%
< 4.12.35%

Question ID : 26433063682
Status : Answered
Chosen Option : 1

Q.17 Fratafam ofes &1 3o &1 st 39 B v e 71 591 3

fregmer | FmAET o # | @i & e
Eodir ] T TE T A O F AR
A 450 20

B 200 18

o 500 12

D 400 15

T A 37 D F TR (statistics) BwT & sremar 3w R g W ot S s g Fm
Ans 7 1.350

X 2.355

< 3.360

< 4.7340

Question ID : 26433081465
Status : Answered
Chosen Option : 1

STg?

Ans 113 41 foe
X2 14% feat
3. 15% ﬁ?-l'

v 1241%

Question ID : 26433074227
Status : Answered
Chosen Option : 4




Coe BN ot & Valoe L e 3 Waitodl Veuifn ¥ |
lk-EJlk +k_2]1kk tor ‘k +Fth +W]!\k +FJ AR
22
Ans k32_ 1
x1. _ k2
k-1
k
1
Ky
X2 IFI
..+_
X k
i
.~
k+E
o 1
k 'FI
& 4. ;
+-
. k
Question ID : 264330105953
Status - Not Attempted and

" Marked For Review

Chosen Option : --

Q.20 95 Had Bler gof o 19 41 7 it 16, 18 3R 36 H | WS A yofa: faursa 32

Ans X 1.81
X 2.196
< 3.169
& 4.144
Question ID : 26433079827
Status : Answered

Chosen Option :

4

Q.21 = & 7 arferet 5 R avga & ®u geu R fassa yew # qwfd 8

I | FT Hed | T qou
Al 350 450
A2 550 550
A3 450 650
Ad 250 550
AS 150 650
A1 S 5T Yo BT A4 & fIsha Teu 9 SrUTd 71 82
Ans X 1.7:5
X 21:3
&3.7:1
X41:2

Question ID : 264330105724
Status : Answered
Chosen Option : 3




Q.22 28 Fgait BT Faewa Ywa 17 awgait & 9 Toa &S aRIER 81 A1 1 g1 B ufa=ra wm 82
Ans )

x 1. 39?% “iH
x 2 33%% Elffl
& 3. 39%% 6If3|

X4 33%0;., arH

Question ID : 26433063693
Status : Answered
Chosen Option : 3

Q23 gfg(4x —7y)=11 M xy =58, x My YHD G 2. Al 163 + 49 y2 I HH 1 I
Ans 7 1.569

X 2.484

X 3.59

X 4.448

Question ID : 26433061943
Status : Answered
Chosen Option : 1

Q24 srgfa # 0 57 =1 & §1 S0 & SHAC AB 3R CD o g@ 1 39 ¥ fmy g P oov ooy s &
Tfy AB = 20 cm, PB = 12 cm 3T CP = 8cm, @ PD & AT =g ffaw)

el '"‘“\.\

)'B

Ans 7 1.12cm

Question ID : 26433076312
Status : Answered
Chosen Option : 1

Q.25 gfg 2a + 3b = 10 3T ab = 3 §, T 4a2 + 9b2 BT HIF I BT
Ans X 1.66

& 2.64

X 3.62

X 4.60

Question ID : 26433083021
Status : Answered
Chosen Option : 2

Section : English Comprehension




P. The demand for fish has increased.
Q. However, adequate fish is not available in the lake.

Manipur river system have declined steadily after the barrage came up.
S. At least two lakh people are directly dependent on the lake for fishing.

Ans 7 1. SPOR
X 2.RQSP
X 3.RPSQ
X 4.QRPS

Q.1 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.

R. This is mainly because the migratory fish from Chindwin-Irrawaddy river system to

Question ID : 264330104729
Status : Answered
Chosen Option : 1

Q.2 Select the option that expresses the given sentence in passive voice.
Don’t pluck the flowers.

Ans ¢ 1. Let the flowers not be plucked.

< 2. You are requested not to plucked the flowers.

25 3.1 am requesting you to pluck the flowers.

/< 4. The flowers should not be pluck.

Question ID : 26433073246
Status : Answered
Chosen Option : 1

Q.3 Select the INCORRECTLY spelt word.
Ans X 1.Disaster

/< 2. System
2< 3. Distance
o 4. Thyriod

Question ID : 26433063144
Status : Answered
Chosen Option : 4

Q.4 Rearrange the parts of the sentence in correct order.
One element that
P. is timing, in particular ensuring that
Q. is essential to navigating deep space
R. the time on board spacecraft is synchronised
S. with the time on the ground

Ans X 1.PSQR
« 2.QPRS
X 3.PRQS
X 4.RSPQ

Question ID : 264330104668
Status : Answered
Chosen Option : 2




Q.5 Choose the most appropriate meaning of the underlined word in the given sentence.
The students have decided to conspire to steal the test papers.
Ans X 1.Enact
75 2. Assist
#< 3. Moderate
« 4. Plot

Question ID : 26433060304
Status : Answered
Chosen Option : 4

Q.6 Fill in the blank by selecting the appropriate word from the given options that would
complete the collocation.

The judge directed the advocate general to an enquiry on the case.
Ans X 1. produce

2. hold
< 3. make
X 4. get

Question ID : 26433072066
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate meaning of the given idiom.

A rolling stone gathers no moss

Ans ” 1. A person who does not settle in one place for a long time, does not gain wealth,
name or fame

/< 2. A person who does not settle anywhere for a short time, and is always searching for
gold

/< 3. A person who settles for a long time and leads a boring and useless life

25 4. A person who settles for a short time and runs from place to place, enjoying his
freedom

Question ID : 26433060862
Status : Answered
Chosen Option : 1

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

When the train pulled in / at the station, it take / Joseph some time / to get off.
Ans X 1. When the train pulled in

X 2. to get off
«” 3. at the station, it take

5 4. Joseph some time

Question ID : 26433088157
Status : Answered
Chosen Option : 3




Q.9 Select the sentence with the appropriate use of preposition.
Ans X 1. Children are fond off sweets.

/< 2. Children are fond to sweets.
«” 3. Children are fond of sweets.

/X 4. Children are fond with sweets.

Question ID : 26433073891
Status : Answered
Chosen Option : 3

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.
An eccentric manner of living

Ans X 1. Misanthrope
< 2. Gourmet
< 3. Numismatist
«” 4. Bohemian

Question ID : 26433060824
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate ANTONYM of the underlined word in the given sentence.

The money she offered him was insufficient to persuade him to sell.
Ans X 1.Clade

< 2. Influence
/< 3. Propagandize

«” 4. Discourage

Question ID : 26433060370
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate collocation to fill in the blank.

We came to as we were passing through.
Ans X 1.take a look

X 2. give a hand
o 3. say hello
75 4. slowin

Question ID : 26433092092
Status : Answered
Chosen Option : 3

Q.13 Select the INCORRECTLY spelt word in the following sentence.
Apparently, he seems to be an amature person, but | know that he is a disciplined and
committed person when it comes to doing something seriously.

Ans X 1. disciplined
& 2. amature
/< 3. apparently
X 4. committed

Question ID : 26433058612
Status : Answered
Chosen Option : 3




Ans

The property left to someone by a will

& 1. Lexical
5 2. Legend
/< 3. Ledger

o 4. Legacy

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

Question ID : 26433060867
Status : Answered
Chosen Option : 1

Ans

Q.15 Select the most appropriate option to fill in the blank.

25 1. kept the ball rolling
«” 2. breathed his last
/< 3. nipped in the bud
< 4. dug the grave

The great director Satyajit Ray after receiving the Honorary Academic Award from
Audrey Hepburn, in his Kolkata home.

Question ID : 26433070541
Status : Answered
Chosen Option : 2

Ans

Q.16 Select the correct indirect form of the given sentence.

“We had opened the lock.” they told me.
25 1. They said that we had opened the lock.

5 2. They says that we had opened the lock.
«” 3. They told me that they had opened the lock.
/< 4. They said to me that they have opened the lock.

Question ID : 264330104619
Status : Answered
Chosen Option : 3

Ans

given sentence.

She acted as if she is the one who was hurt.

” 1. as if she was

75 2. as if she has been
< 3. as if she will be
75 4. as if she would

Q.17 Select the most appropriate option that can substitute the underlined segment in the

Question ID : 26433084863
Status : Answered
Chosen Option : 1




Q.18 Select the correct passive form of the given sentence.
The government will build an amphitheatre.

Ans & 1. An amphitheatre will be built by the government.
< 2. An amphitheatre will be build by the government.
< 3. An amphitheatre would be built by the government.

< 4. An amphitheatre be build by the government.

Question ID : 264330104569
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate ANTONYM of the word identify from the given sentence:
My pet dog can classify and identify our family friends easily and doesn’t overlook
anonymous and unknown ones

Ans X 1.anonymous
< 2. classify
< 3. spot
«” 4. overlook

Question ID : 26433058559
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate ANTONYM of the underlined word.

One must aim to develop intrinsic motivation within learners for better retention of
knowledge.

Ans X 1.Inherent
25 2. Elemental
< 3. Introjected

«” 4. Extrinsic

Question ID : 26433070529
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A new world research shows that the French (1) large amounts of cheese and butter.
Therefore, they have low levels of heart disease. The research (2) that animal fat is
good for human body and helps in reducing the risks of heart attack. This study was (3)
in 2018 in 21 low and middle income countries. However, it (4) that eating
moderately is the (5) key in this regard.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1.gobble
5 2. take
o 3. consume

25 4.drink

Question ID : 26433072797
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A new world research shows that the French (1) large amounts of cheese and butter.

Therefore, they have low levels of heart disease. The research (2) that animal fat is
good for human body and helps in reducing the risks of heart attack. This study was (3)
in 2018 in 21 low and middle income countries. However, it (4) that eating

moderately is the (5) key in this regard.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans & 1. believes

X 2. credits
X 3. accepts
5 4. trusts

Question ID : 26433072798
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A new world research shows that the French (1) large amounts of cheese and butter.

Therefore, they have low levels of heart disease. The research (2) that animal fat is
good for human body and helps in reducing the risks of heart attack. This study was (3)
in 2018 in 21 low and middle income countries. However, it (4) that eating

moderately is the (5) key in this regard.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.directed

5 2. supervised
/< 3. managed

" 4. conducted

Question ID : 26433072799
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A new world research shows that the French (1) large amounts of cheese and butter.

Therefore, they have low levels of heart disease. The research (2) that animal fat is
good for human body and helps in reducing the risks of heart attack. This study was (3)
in 2018 in 21 low and middle income countries. However, it (4) that eating

moderately is the (5) key in this regard.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.closed

o 2. concluded
< 3. finished
/< 4. stopped

Question ID : 26433072800
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A new world research shows that the French (1) large amounts of cheese and butter.

Therefore, they have low levels of heart disease. The research (2) that animal fat is
good for human body and helps in reducing the risks of heart attack. This study was (3)
in 2018 in 21 low and middle income countries. However, it (4) that eating

moderately is the (5) key in this regard.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans o 1. crucial
5 2. principle
/< 3. diligent
X 4. eminent

Question ID : 26433072801
Status : Answered
Chosen Option : 2
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